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=S Al 85,639,428 80,496,384 5,143,044 6.3%

MY 74,916,242 69,844,289 5,071,953 7.26%
NeEs 10,570,991 10,499,900 71,001 0.68%
HHE 2 ZH 152,195 152,195 0 0.00%
8 29,634,841 26,884,404 2,750,437 10.23%
&t - =2 11,218,351 11,072,858 145,493 1.31%

ZIHHSEH =29 79,441 72,231 7,210 9.98%
SEINEELIH 2 (=EHEELSH) 79,441 72,231 7,210 9.98%

SSH=HCAESEH 2 731,578 648,371 83,207 12.83%
SSH=X2IAEELESH 2S (s34 731,578 648,371 83,207 12.83%
S3H==HMelAlE SE3AH)

Not=SE2H2Y 409,304 409,304 0 0.00%
Kot=SEsH 2 (Xot=SE3H) (KIot=S 409,304 409,304 0 0.00%
E3IH)

Heas(sd= ) 9,735,887 9,855,952 120,085 A1.22%
LHEHH RIS (=ZHESE3IH) 9,735,887 9,855,952 120,085 AN1.22%

MHeas(Xot=S483) 262,141 87,000 175,141 201.31%
l).H—‘?’—HEHII%(IIE}—’F—%%iD#l) (XIGt==EE 3 262,141 87,000 175,141 201.31%

HII= 18,412,540 15,807,940 2,604,600 16.48%

HIISHMCIAEAIRSEH 2 17,907,900 15,303,300 2,604,600 17.02%
HOISM2IAIEAIESESH 2L (HDOIS M2 Al 17,907,900 15,303,300 2,604,600 17.02%
HAAELESIA)

MRS (HIISHelAEAY S83H 22) 504,640 504,640 0 0.00%
WRAHHXIE(HIISHIAIZAILEESIH) 504,640 504,640 0 0.00%

SRS S ALt 3,950 3,606 344 9.54%

Heas(sd= ) 3,950 3,606 344 9.54%

SENE(+ENEEESH) (=EHLESSIH) 3,950 3,606 344 9.54%
A2l =X 9,413,690 7,021,083 2,392,607 34.08%
I=ME2H 53,671 38,000 15,671 41.24%

Hess(Met2Em) 53,671 38,000 15,671 41.24%

BENE(ASSHIISELELIA) 53,671 38,000 15,671 41.24%
FAHSKZ 9,360,019 6,983,083 2,376,936 34.04%

IZSHII=SEESEIN =23 9,360,019 6,983,083 2,376,936 34.04%
2SS ELEELIN 2 (A=S0II=E 9,360,019 6,983,083 2,376,936 34.04%
HEE3IH)

WSHEF 46,428,000 46,428,000 0 0.00%
SAEE 46,428,000 46,428,000 0 0.00%
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SAEBEMY SEH 2Y 46,428,000 46,428,000 0.00%

SABTAY S 2Y(SA 46,428,000 46,428,000 0.00%
3I131)

SEXXSNL 10,702 10,702 0 0.00%

UNE: =N 10,702 10,702 0 0.00%

HRES(ZAIHE D 10,702 10,702 0 0.00%

28XE 10,702 10,702 0 0.00%

162,195 162, 1% 0 0.00%

152,195 152,19% 0 0.00%

152,195 152,19 0 0.00%

= 2| (XI55 162, 1% 162, 1% 0 0.00%




